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Answers to this Paper must be writlen on the paper provided separately.
* You will not be allowed 1o write during the first 15 minutes. This time is to be
spent in rébding the Question Paper. The time given at the head of this

" Paper is the time allowed for writing the an.s-‘n'Jers.

Attempt all questions from Section I and any four quesﬁon.s' from Sgcnon 11

The intended marks for guestions or paris of questions are given jn brackess ()

SECTION I (40 MARKS )
Attempt all questions from this Section .- - |

Question 1
()

(a) Name the following :
(i) The gas that helps in building up of carbohydrates in plants.

(ii) Condition of a cell when placed in hypotoqic solution.
(iii) The duct which transports urine from kidney to u,e‘ urinary bladder.

(iv) Openings on'the stem through which tmnsp:rauon occurs.

(v) The Juncnon bctween two nerve cells.

(b) Gwen below are ceﬂmn biological lenns. Write a single (collective)
| @)

term for the following :
(i) Gibberellin, Cytokinin, Auxin.
(ii) Condom , Copper-T, Diaphragm.
(iii) Phenyl mercuric acetate, Silicone oil, Abscisic acid.
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(iv) Acidophils, Basophils, Ncut_rophﬂ_,s.‘ :
(v) Albumins, Globulins, Fibrinogen, -
{¢) Choose the correct answer of the following : | e 5. (5)

(i) Cerebellum is a part of the brain -\&hich is fesﬁonsiblc-for :

(a) Interperting sensations. = -+~

(b) Controlling reflexes in the body.

(c) Maintaining posture and equilibium. . iR 53
| (d) Controlling thinlﬁng, memory ax;dr reasoning. | it .
(ii) Ozone is abundant in this layer. ozone heats this layer this layer as it at{é@;ﬁs":‘_ : : :
energy ﬁém incoming ultraviolet radiation from the sun. The layer is: - 5 e

(a) Thermosphere 1Y

?0 OA
(b) Troposhere o og‘bﬁa :
' N O @
&0\',\! .w‘\"..: [y
(c) Mesosphere , \\%\\Lb"?&(\.‘ .7,313\,\%\- /J
, T - \ Q X (:_:-‘«':‘ q .?‘ . .
(d) Stratosphere - | }‘;\\0?‘\ %‘\\;\@\‘:ﬁé‘ﬁ
’ W

(iii) The parts of the human ear concerned with hcz;n'ng are - \\\Q\Qﬁ;&
(a) Cochlea, ear ossicles and tympanum.
. (b) St_&:micim_ular canals,utriculus and sacculus. -
(c) Eustachian tube,tympanum and ut.n'culus.
(d) Perilymph, ear ossicles and sgmic':i.rcular' canals.
(iv) Ultraﬁ.l-tration occurs in ;
(a) BoWn’s capsule.
(b) Proximal convoluted tubule.
(c) Loop of Henle.
(d) Distal convoluted tubwle.
(v) The functién of WBCs is :

(a) To distribute heat.

(b) To protect enzyme.
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(c) To cause blood clotting.
(d) To destroy bacteria. |
(d) State the location and one function 6fench bf the following : (5)
(i) Organ of corti.
(i) Bundle of His.
(iii) Prostate gland.

(iv) Sebaceous gland.

(v) Corpus luteum, o | 0@0’;
g \5 \ ‘
\
(e) Define the following terms : - - %603\‘%??‘“%\\\&\‘ (%)
' a\ 200% 7 (aN
» 3 h 0 \\ ¢ (\6 “\. 4
(1) Mutation. ‘ s\xﬂ“ 'N\\\av;"mq\ -
T ¢ N_\\‘\V‘“ Q&Q\
(11) Turgor pressure, ; q%?.\q' %)
\eo
(iii) Placenta. .
(1v) Tubular reabsorption.
(v) Guttation.  .
(f) Givereason: - | (5)

(1) You can keep green leafy vegetables fresher and greener for a longer duration of time
ustng cytokinins.

(ii) Bacteria and fungi do not grow in pickles, jams, jellies aod squashes, elc.
(iii) The urine is slightly thicker in summer than in winter.

(iv) The acrosome of Sp’enn S_eﬁzrctes an enzyme called hyaluronidase at the time of
fertilization. ' |

(v) Natural selection explains the evolution of giraffes.

(8) Given below are six sets with four terms each. In each set one ter'rii is odd and cannot be
grouped in the same category towhich the other three belong. Identify the odd one in each set
and name the category to which the remaining three belong. (5)

) Hacmoglbbin. glucagon, iodopsin, rhodopsin.
(i1) Carbon monoxide, ozone, carbon dioxide , methane.

(i1i) Transpiration, photosynthesis, phagocytosis, guttation.

Scanned by CamScanner



(iv) Cyton, photon, axon, dendron.

(v) Oxytocin, insulin, prolactin, progesteronc.

(h) State whether thc following statements are ture or fdl e. If ﬂa. r, rcv Ihc correct
stalement by changmg the first or last word only : i

(i) Ribosomes are ‘made of RNA and proteins.
(i1) The unit of: hght absorbed by the chlorophyli dunng pholosynthesxs is t’he proton.
(111) Comea is, covercd by a structure called sclerotic. 7 by
(1v) The presence of hl,:,h concentranon of auxin promotes root growlh
(v) Humans and grcat apes of afnca ie. chlmpanzccs and gonllas sharo a commom ancestor.
SECT ION 11 (40 MARKS)
Atlempt any four l’our quesuon from this Secnon
Question 2

(2) Given diagram is “the sagittal section of human brain. Obscrve it carefully and answer the
followmg questions : ' _ (5

(i) Why are there clevation and depression in the brain?

(if) Label the guidelines 1-6. )

(i) Which parts of the _abo.vc'diagram'are responsible for

(1) Vision. o - o _ 7 ":
«(2) Involuntary action. |

'(3) Balancing thc booy.

(iv) Name the tissue which connects lwo cerebral ilemisphpi'e.- AR o
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(b) (i) Write the name of the pigments present in : (2)

(1) Urine. - |
(2) Cones (.)fle'ye.' |

(3) Blood."

(4) Leaves.

(i) Write these Phaseisl-of_ n»ieﬁs't';ual cycle in a proper chUéﬁég 5 A (1
Folliculaf phase, Lu'téa]i’hase,' Menstrual phase, Ovulatoribﬁ‘l‘sél_:e L

(iii) If you are planning an eiﬁen’ment to show the effect of light on

photosynmcs*i‘s: | @
(1) Which light will you Sclca-Grecn light or White light? Give a reason.

(2) Why would you select a destarched plant for the experiment on photosynthesis?

AL
' O
Question 3 » Q <
(2) Study the pedigree given below and answer the following : o .é°. § - (5) -
. o SIS
(i) Which character is dominant? (@) S<Ls
QS ¥
i ' i ive? ‘ TS
(ii) Which character is recessive? g NN N‘g)
‘ - SN
(iii) How many generations have been represented? Y R
(iv) What do striped circles or squares represent? S
(v) What do unstriped circles or squares represent? | ‘
< e . | __xlt. Attached ear|
___—Fme earlObe " ',!.'-,‘::o lObe (Male)
- (Female) | i1y ot
._____ Attached ear co Ty | —— Free ear lobe,
‘lobe (Female): = - ""(Male) l
Family A j@gzwwn

L2

QDAL - OQb
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(b) Give scientific terms for the following : (5)

(i) The process by which man selects traits useful Lo him for improving the qualities of

domesticated plants and animals. &4
% '~
(11} Origin of new species from the existing ones. '3\5'3"
WIS &
(11i) The ear ossicle which is attached to the tympanum. QQ,\&"Q&:\"’\' )
A NN
(1v) The period marked with evolution of man into modermn man. R \Q§\'§§'\ g‘@‘?
‘ : : i et 3 BT S
(v) The process by which information in DNA get changed. $Q$ & \:‘;9(@'5
5 'S Vg
Tl
Question 4
' (a) Given below is the diagram of a part of the human ear. Study the same and
then answer the questions that follows : . | - &)
'E. .-
B X
' A
(i) Give the biological term for malleus, Incus and Stapes. .
~(11) Name the parts labelled A, B and C.in.the diagram... ... ...
(iii) State the functions of the parts labelled ‘A’ and 'B".
(iv) Name the“audj’t)‘receptor region present in the part labelled 'A’.
(b) Given below is the outline of the male reproductive system : (5)
.").‘_
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(1) Name the parts labelled 1 10 5.
(i1) State the functions of the parts Jabelled 1 fmd 4%
(iii) Name the cells of part 5 that produce testosterone.

- (iv) Why is the structure 5 present outside the body in the scrotal sacs?

(v) What is semen? SRS AK DE?O;T
AMBIKAZ Vst
Question 5 s“?;\a\\\.“ Vitag®s 403 A0\,
' mumba\ - .
(a) With respect to human eye, explain : Nob- §3217.63050n : | (5)

(i) How is the image formed on the retina?
(ii) How is the amount of light entering the eye controlled?
(i11) What type of lens is used for the correction of 'Long sight' defect?

(iv) With the help of a ray diagram show the defect of the eye and then its correction after use

of lens.

(b)The alongside figure shows aroot hair: e (5)

(1) Label the parts 1 to 4.
(ii) What is the role part 47
(ii1) Why is the root hair one- celled?

(iv) What will happen to the root hair if some fertilizer is added to the soil near the root hair?
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Question 6
, : otic cell division
(0)Study the dingram given below which represents a stage during the mitotic cell g' >

and ansyer questions that follow :

\‘.x\ N &
‘ : ' A o oS
stage piving sui : VAR
(1) Identify the stage giving suitable reasons 6“0 N \x\\\% K05

(ii) Name the parts numberes 1 and 2. R d

(iii) What is the technical term for the division of nucleus?

(iv) Mention the stage the comes before the stage shown in the diagram. Draw a neat labelled

diagram of the stage mentioned.

r

(v) Which is the cell division that results in half the number of chromosomes in daughter

cells?

(b) The figure below represents the vertical section of a leaf : (5)

(i) Name the parts labelled 1 to 5.
(1) What do the two arrows indicated in thr day time and at night?

(i) Could you add one more arrow in the figure? lf yés,:what for?

(iv) How many leaf veins have been shown in this section?
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Question 7
(a) Given below is a porh'on?of the buman body showing some impi)rtan_tu b

structure in ventral (front) wew Fpaaty s s (5) s

"""" ) ;v-u:-_' :" >
SRR == N
VAT ] .",
- ‘,'“::_’.L) “ )
b  Vlage, K2
1o eT, - ur \ :
e i _Thak Mambai - =400 ‘\01

Mob. 932125305(»

(1) Where 1s thls portion located in the body?

(u) Name the structures numbcrcd 1-3

(iii) State one main function.of each of the structures named above.
(iv) Is there any duct or tube to carry the secretions of the structure numbered 2? “
If so, give its name.

| (b) Given below is a schﬁmatit":rreprescntaﬁon of secretion of gland A and

- a blood capillary in its close proximity. (5) )

(1) What do the arrows o&side the blood capillary indicate?
(i1) What does the arrc.).w coming out of gland A indicate?
(iii) Choose the name of gland A from the following optioﬁs :
Sweat, Salivary, Pinﬁ tary.

(iv) -W}lﬂt is the error_'shown in this diagram?

‘(v)» If B is one of the target cells in the thyroid, name the secretion being poured out of the
gland A.
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